Events / (20 MeV/c?)

28.0 pb* (pp 5.02 TeV)

15< p, < 50 GeV/c
lyl<2.4

Preliminary

70 -e- Data
BO — Fit

60 =S Signal

50 ---- Combinatorial
Significance = 7.9

40 X2/InDOF: 44/45 = 0.97
Yield =79

30

20

10

| o
5.2 54

56
My gt (CEVICT)

5.8

6

Events / (20 MeV/c?)

351 pb™ (PbPb 5.02 TeV)

18 CMS 15 <p_<50 GeV/c
Preliminary i lyl<2.4
16 -e- Data
0 — Fit
B |
14 Ps Signal
12 ---. Combinatorial

Significance = 3.0
X?/nDOF: 43/45 = 0.95
Yield = 11

10

II!"!IMIII"I"IIIIL IlIIIII

54 56 58 6

U1OI\)J>0700

5.2 ,
My g (CEVICT)



